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55 LA BEL R =
! = gz B Rt ERREE% 7386 =
2 = BE AU BEEREE  [4157.975 =
8 = BE UTEM RAE 3154 =
4 = Bl Yk BAMHNSE (2802 =
° = ERA BED TR 2761 =
6 = #AR LAL2S N 2644.207 =
! = BE bI1F NHK 3% 2511 =
8 4 g VAHE 3o 2468.610 =
S = S N 2468 =
10 = FR #H BATE 2333 =
i = B THZ N 2290 =
12 5 T bAF BA#£ER 2032 =
13 = Ol BE B E 1905 =
14 5 <hlEs %0 N 1739 =
1 = HE Wi=h "R 1709 =
16 o BAR B33 BAR 1703.644 =
1 = fmEL F— RAE 1657 =
18 = FN Ebh BA%EE  [1612 =
19 = RE A R 1587 =
20 3 CAD BAF AA#ER 1491 =
21 = Fh DEF BETE 1451 =
22 5 gEh AT RATE 1408 =
23 = BEEDS BF BATE 1386 =
24 = Ml ELUS BAE 1314 =
% —& 5 3o 1285 =
26 EiE HED TR 1262 =
2 AE VA BAE 1173 =
28 Lo EB RATE 779.949 =
29 BA 1 ®ATE 421.148 =
30 i MU BATE 332,074 =
8 5612 fiZ TR 211 =
32 =57 L BAE 210 =
3 5 LRUE BAR 208.389 =




Bl E & #R SHIETA 208 KT
M Ee e REE

o R | TR Fig Fi& Fi& 4RI R S| R 4Hl BER
&= 1RiEE S 10:00 10:30 11:00 11:30 0:00 0:30 1:00 1:30 2:00 (FRIZN5S)
1 £ VApE 0 0 0 200 200 600 1,600 2,000 2200 | 2468610 E
2 FaA PETF 0 0 0 200 400 600 600 1,200 1200 | 1451, =
3 <hign #*BE 0 0 0 200 400 800 800 1,200 1400 1,739. =
4 Pt BE 0 0 0 200 400 400 1,200 1,800 1800 | 1905, =
5 ZAD RAF 0 0 0 200 400 600 600 800 1200 | 1491. =
6 5612 #i= 0 0 0 0 0 0 0 0 200 211, =
7 FiR #& 0 0 0 200 600 1,000 2,000 2,200 2200 | 2333 E
8 BHE pr=H 0 0 0 200 400 400 800 1,200 1,400 | 1,709. =
9 R I 0 0 0 200 400 600 600 1,000 1,600 | 1,703.644 E
10| Lo EB 0 0 0 200 200 400 400 400 600 779.949 E
11 EeRK BT 0 0 0 200 600 1,200 2,000 2,600 2600 2761. =
12 | Ik BhF 0 0 0 200 400 800 1,400 1,800 1800 | 2032. =
13 | KE Bk 0 0 0 200 400 600 600 1,200 1400 | 1587. =
14 | #E UTkh 0 0 0 200 600 1,200 2,000 2,800 3000 | 3154 E
15 | f=hIEL F/— 0 0 0 200 400 400 800 1,200 1400 | 1657. =
16 | MR KLUA 0 0 0 200 400 600 600 800 1200 1,314 =
17 | & g 0 0 0 200 400 600 600 800 1,200 | 1408 =
18 | HLE VA 0 0 0 200 400 600 600 800 1000 1173. =
19 | EiD <HhH 0 0 0 200 600 1,200 2,000 2,400 2600 | 2802. =
20 | 4@ UL 0 0 0 200 600 2,000 3,600 4,800 7200 | 7386 E
21 &S LU 0 0 0 0 0 0 0 0 0 208.389 E
22 | BEIFL BF 0 0 0 200 400 600 600 800 1200 1,386. E
23 | FIl &b 0 0 0 200 400 600 800 1,200 1400 | 1612, =
24 | #HK &5 0 0 0 0 0 0 0 0 200 421148 E
25 | %dH FE 0 0 0 200 600 1,200 2,000 2,200 2200 | 2468 E
26 | @ THA 0 0 0 200 400 800 1,600 2,200 2200 | 2290. =
27 | #&A f=HhUl 0 0 0 200 600 1,200 2,000 3,000 4000 | 4157975
28 | #K LATAS 0 0 0 200 400 800 2,000 2,400 2,400 | 2644207 E
29 | =87 IFL L 0 0 0 0 0 0 0 0 200 210. =
30 | —& Wp5F 0 0 0 200 400 600 600 800 1200 | 1,285 =
31 | HE HEH 0 0 0 200 400 600 600 800 1200 | 1,262, =
32 | #H f=HOC 0 0 0 0 0 0 0 0 200 332074 E
33| BE BIF 0 0 0 200 600 1,200 2,000 2,400 2400 | 2511. =
" R H% & F 0 0 0 5600 | 12,400 | 22,200 | 35000 | 46,800 | 56,000 | 61,852.996 &
] = = 0% 0% 0% 8.75%| 19.37%| 34.68%| 54.68%| 73.12%| 87.49% 100 %
BAUIETE 0.004 E
BFORER 61853 =
BOIREH 2146 =
SEBM(EWEREH+EHIEFEL 63999 =
HHIRY - Z 0 1E
BREBRERERBHFLIRY-TOM) 64,006 =




s ERX A -BFMEBNKEERR
SITETA20BHIT ZMHESEE —IHES
# L EHEER(N) BRSNS
= BE/R SEEB(N) BEE®M)
> 5 | % it 2 | & | & | B | & | &
1| R FR H rh s 974 | 964 1,938| 540 | 490 | 1030 | 5544 50.83] 53.15
2|FHERER 2,001 | 2,090 4091 | 1203| 1254| 2457| 60.12| 60.00| 60.06
3o oHAEE 1474 | 1526 3000 876| 915| 1,791 | 59.43| 59.96| 59.70
4| BEBRRER 1,156 [ 1,201 2,357 705 770 | 1,475| 60.99| 64.11] 62.58
5|FH&/NERR 1174 | 1,242 2,416 731 781 | 1512 | 6227| 6288 6258
6| KIEFR=EE 2447 | 2415 4862 | 1332| 1354| 2686 | 5443| 56.07] 55.24
7| R ENERR 2914 | 2901 5815| 1640 | 1671 3311 | 56.28] 57.60] 56.94
8|dt etk 1,204 | 1,096 2300| 629| 569 | 1,198 | 52.24| 51.92| 52.09
9|FER/IFR 3111 3,138 6249 | 1847| 1851 | 3698 | 59.37| 58.99| 59.18
10| FI/NEARR 4,401 | 4457 8,858 | 2675| 2691 | 5366| 6078 60.38] 6058
| RMER X 5— 1,369 | 1,282 2,651 708 | 723| 1431| 51.72| 5640 53.98
12|F 24 1,643 | 1,697 3,340 872 929 | 1,801 | 5307 5474 5392
13|\ AR/ NERR 918 939 1,857 522 546 | 1,068 | 56.86] 58.15] 57.51
14| 5nHL O THHE 1,934 | 1,929 3863 | 1,051 | 1075| 2126| 54.34| 5573| 5503
15| = N B/ NERR 1,184 | 1,165 2,349 673 700 | 1373 | 56.84| 60.09| 5845
16| = M /NFER 1877 1,711 3588 | 965| 978 | 1943| 51.41| 57.16] 54.15
17| FE5NRE 672 606 1,278 373 328 701 55.51| 54.13| 54.85
18| MR L /NERR 1,054 | 1075 2129| 569| 576| 1145| 53.98| 5358 53.78
19|AT B /NER 1476 | 1447 2923| 743| 766| 1509| 50.34| 5294 51.63
20|FrEANBHNVAIE 1,063 | 1,010 2073| 519| 549| 1068| 4882 54.36| 5152
21 |FriEsts 1,120 | 1,127 2247 590| 599 | 1,189 | 52.68] 53.15] 52.91
22| F iR 1,991 | 1,986 3977] 990 | 1010| 2000| 49.72| 5086 50.29
23| AT A 850 830 1,680 450 461 911 | 5294 5554 54.23
24| B R 3,157 | 2914 6,071 | 1723| 1648| 3371 | 5458 5655 55.53
25| H N FHEE 1,753 | 1,661 3414 884 858 | 1,742 | 5043 51.66| 51.03
26| ERR b2 52— 1,480 | 1,390 2,870 746 703 | 1449 | 5041| 5058 50.49
21|ENIFAREE 973 993 1,966 471 494 965 | 48.41| 49.75| 49.08
28|ER AN 2591 | 2957 5548 | 1796 | 1,958 | 3754 | 69.32] 66.22] 67.66
29| ERmESH 1,385 | 1373 2758 | 678 | 717| 1395| 4895 52.22| 5058
30[#R/NER 1,479 | 1,642 3,121 871 945 | 1,816 58.89| 5755 58.19
N RER 872 833 1,705 460 447 907 | 5275| 53.66] 53.20
32|3LTE/INFAR 777| 879 1656 | 414| 420| 834| 5328 4778 50.36
B FEDMI L F— 797 | 703 1500 | 423 388 | 811| 5307| 5519 54.07
34| BN 901 | 1,043 1944 494| 577 1071 | 5483| 5532 55.09
35|ASEE ALt R ERRFR 1,002 | 994 1996 | 594| 535| 1129 | 59.28| 53.82| 56.56
36|ERNFR 861 890 1,751 491 534 | 1,025| 57.03| 60.00 58.54
N ERRERM 956 952 1,908 473 475 948 | 49.48| 49.89| 49.69
& B 56,991 | 57,058 | 114,049 | 31,721 | 32,285 | 64,006 | 55.66] 5658/ 56.12




